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In the end, he used technology. ng
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Consider the following.

(8 +8i)(5-5) = qo(l*i)(l—;): qo(ll—_,_l'b): &0

(a) Write the trigonometric forms of the complex numbers. (Let 0 < 8 < 2m.)

(b) Perform the indicated operation using the trigonometric forms. (Let 0 £ 8 < 2m.)

(c) Perform the indicated operation using the standard forms, and check your result with that of part (b).
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Consider the following.
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(a) Write the trigonometric forms of the complex numbers. (Let
0 < # < 2m. Round your angles to three decimal places.)

(b) Perform the indicated operation using the trigonometric forms. (Let
0 £ @ < 2m. Round your angles to three decimal places.)

(c) Perform the indicated operation using the standard forms, and check your result with that of part (b). (Round all

numerical values to three decimal places.) N
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